2-2 Comparing Numbers in Scientific Notation Date

Comparing Numbers in Scientific Notation

Objective: I can compare numbers written in scientific notation.

Warm Up: Are the following numbers written in scientific notation? If not, state the reason.

(a) 4.0701(P107 (b)% 325/ 1072
No! Seientihie NoTThe first factor
Notation USEs must be o single
mutiplication! Non-28rd dightl
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¢ Investigation 1: Express each scientific notation in standard form-

o E 3
(a) 4.3 x 102 (b) 2.5 x 103 4

4 3,0,° Y20 2.5,0,00° 2.507

Which number is smaller?
2.
4.2% |0

Which number is larger?
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/ Investigation 2: Express each scientific notation in standard form-

Is there a relationship between the value of the coefficient and which number is
larger or smaller?

LoV Hne exponewniys ore e same, twe
', larger coefficient Wos the grecctest v olue L
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: (a) 2.1 x 10* (b) 1.5 x 10* L d
: 5 0.0.5 21,000 | 50,800~ 15.00
: Z‘|. 10,05~ s M ,
: Which number is smaller?

. 1.5x /0%

: Which number is larger?

L 2.1 =10
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Guided Practice: Steps for Comparing Numbers in Scientific Notation Form

1. To compare two numbers given in scientific notation, first compare the Cﬁgo! N t :

The one with the greater exponent will be Lax 9 exr

2. If the exponents are Mthen compare the decimals.
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Compare the quantities in the following exercises using <, >, or =

Exercise 1: 106x1 2 24x1(@ Exercise 2: 278x1@ < gﬁ‘xlé

218> \o
Larger
exp:
Exercise 3- Order the countries shown in the accompanying table according to the amount of money
their visitors spent in the United States from least to greatest.

\ , Dollars Spent by International
Least>® Tndia Visitors In the U.S
@ Mexi €0 Country  Dollars Speat
® Canada Canada 103 x 1
) india C1.83 ¢ 1Y
‘ Kingdom
Grearest>® United King Meko | 7.5 169
United Kingdom  1.06 x 102>
Problem Set: _
For the following problems use >, <, or = to make the statement true.
LA
(1) 9.74 x 1d29 < 2.1 x 1622 (2) 5.28 x 1012 < 954 X 1012
q.54 %10
(3) 2.33 x 10%° < 76 x 100 (4) 44 X107  =—__ 44,000,000,
== = Hax10’
(5) 548,000,000 2 548 x107 (6) 1.2 x 1073 < 47 x 1073
Bug» (o°
(7) 623 x 169 _ 2 8912 x 1012 (8)5.15 x 16202 635 x 162
-4 -5
(9) 3.28 x 107 < 425 x 1017 (10) =12 x 105 _ 2 —17 x 108
-1.2> =11 because i3
closer © 0.

(11) Compare the following problem Be sure to explain your reasoning.

Not _— 1%8 x1o3 > 1ax1t When in
correct 128w (0" scientific notation,

sc\enh\C\C exponents 4> 3
notation! 8



